SUMMER MATH
PACKET




Students should be advanced at these concepts:

Birections; Completa th following problems, NG CALCULATOR}

N7 NTT 107770

9)36 6)42° | 2144

Y114 270 6)102
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Order of Operation

Directions: Simplify the following. Remember your PEMDAS rules!

You can ramember the order by saying :

PEMDAS Rules
Please Excuse My Dear Aunt Sally
: ' a % u | d u
Evaluate the probfem in the following order: ¢ P I v d b
) ‘@ o t ! t
1) P - Parentheses A by s
: h n I o o ¢
2) E - Exponents (Powers and Square Roots ) 8 t i n_ ot
: ) 5 G i
3) MD - Multiplication and Division (Left to Right ) 8 f z
_ L .
4) AS - Addition and Subtraction ( Left to Right ) !
' n
13x13- 4 +10 18 -11+19x3
N |
o= 4410
o
lieh 10
2)
2 24+8x11+3 C2411x17-12
4 944x12+15 - 16x3-243
6. © 16 +2+19-16
16+9-10+5
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Mixed Numbers & Improper Fractions

Directions: Convert the following improper fractions to mixed numbers. Write your answer on the

line next to each problem.

1) %:jm 6) %:mwm 11) %m_,_w
2) 8- 5 & iy o
'_3) %xm 8) ..-g.:w 13) ”%5“*._%
2 %;:WWi 9) %Q:W |14) %—%mmm
5 B= o Y= 9P

Directions: Convert the following improper fractions to mixed numbers. Write your answer on the

line next to each problem.

1) 5= 5 |6 Z%fﬂﬁm 11) g%mmm
2 24= | n3g= )65
Hnad= |8 e |1)sg=
9)32= |9 576° 4)95=
5)92=  |10) o= | 15) 295
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Long Division

Directions: Complete the following problems. NO CALCULATOR! SHOW ALL WORK!!

85556

3/1560

1. 619 2, 3. |
53005 31530 12]6.036
.30 |
69
45
G
4, | 5. 6.
9J4 581 75425 8] 7434
7. 8. 9
3J2424 [ 788 6]5.447
10 11. 1

2.
A3 204
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Coordinate System

Directions: Write the point that is located at each ordered pair.

1 (6,2)

3) (10,1)

5} (9,7}

7} (1,6)

9 (21)

10) (7,4)

2) (6,8)

4) (4,5)

6) (2,3)

8 {57)

y
A

e

AAO*M,. . (.

|
% |
Co
! 4
f—
1

Directions: Write the ordered pair for each point.

¥
A

» X

10
S
IR
i
6 oH
R
4 i -
| | i
3 o
L
2 oot
i i
S B B

10

N ]

1] - (PR |

L ¢ O, ORI,

17) D s )

19) J(— )

1) RO

O F O O

15) Pl i cmann }

mi—, —)

200 H— , —)
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Divections: Exprass wach fragkion ag a percent.

. 5B 2L,
% — e i . % %(} —— mmwmﬁ l m el mma-;nm;qu.xmmms.«-m%
PP I R Y

Directiois: Exprass each decimal vs 4 parcent,

« %
A KLU ot it e, o

007 %

D08 = 6

g»"ﬁ t"m MMWW%

Qﬁﬁ &2 [T

Dlrastiong: Exprass each percant as a froctlon with o denorminater of 100,

M%WQQ ?%WQJ I

oo

m%ﬂ

1% =

5% = J

e

T,
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Directions: Determinge the prime factorization of the following mumbers,

Prime Factors
axdxgdul] =88

¢
g

=5

e

(‘jf Y

™

Prime Faolors
K W% _ =54

Prirne Faotors
% % w =10

24
7N

C

offe

Prime Factors
RSN

44

h '%\

olmm
30

Frirme Factors
LKW, w44

ofn
" Jd 0

50

- Prime Faclors
x_x_ =5

" Awe

Divantions: Evalusto the following. You may use s cateulator,

| ‘ b W ﬁm-- {1y§ e (,g’:]ﬁ o
‘{gf’ NEVCYE)) u@f‘p

BF = B = =
) = &= | 7=
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Adding & Subtracting Decimals

Directions:Solve the following. DO NOT USE A CALCULATOR!!

Excimpl 1 | Add Decimuais N E‘xu'!tlplé-_ﬂ_ft Subtract Decimals —eremeren,
Find the value of 3.9 + 2.45. | | Find the value of B.6 ~ 4,55,
_ STEPT Rewrite the problem yarticaﬂy 390 " STEP1 Rewwita the problem vartically 840 )
ir_':a ordst to slign the declm.a! + 248 ' i arder to align the decimal - 485
points in each number, Add a points in each number, Add a
2aro t0'3.9 as a placehslder. zeto to 8.6 as a placsholder.
STEP2 Begin by adding the dights 390 'STEP2 Begln by subtracting the B %g
i the hurichedths place, + 245 dighs in the hundredihis place, 4‘55
‘ 5 Regroup 1 terith as 10 hundrads “““‘““'“‘“g'
STERE Acld the digity in the :13 oh 50 that you can subtract.
tenths place, Since | + 245 | | STEP3Subtractthe dighsinthe - Y
G k4 =13, ragroug TN tenths place. - ‘56
10 tanths a5 1 one, : C - 4.8
) prs
STHR 4 Placa the ducimal point fIi 90 . T ’
" inthe angwer Add the . 2~45 STEP & Placa the decimal paiﬁt in _ 8;53
digita In the enes place, LA the anawer, Subtract the - 485
. 6,35 cliggits In the ones place, i
39+ 245 = 4,35 _ o 4,05
. 8.8 ~ 455 o 4,05
< : JoN \ o S,
o 1 ot oam 2 3
4.59 + 1,02 9.04 — 6,32 5.8 + 0.26
| . 04 5 328 - 1.09¢ ©
&rs b 33? Gl‘i + ﬁ-ﬁ“} " - 1‘G?m
2 _ 8. : g 9.
5.7 + 4,68 6.3 = 2.99 807 + 086
10. ’ 11. Baq L9 A 12.
v ?.2 o 5‘?8 ?103 + ?n:}ﬁ 5133 gl&a
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Finding Area & Perimeter of Rectangles

Directions: Find the perimeter & area of the shapes below. All work must be shown!! Please
Jollow the example problems for work we expect.

Coordinate Plane

: A=bh
; A= 4(5)
A=20u2

P =2b + 2h

P =2(4) + 2(5)
P=8+10
P=18u

A=g?
A=4g7

A=16u2

P=4s

P =14(4)
P=16u

141

i

B
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Directions: Write the point that is located at each coordinate plane. Q

M (4,1) 2 (3,5) 4
N — ﬂL
""‘5"" [} ‘f
3 (5,1} 4) (5,5) T
of- V.l«. . 3 S
| R
u
5} (1,-4) 6) (-1,-5) B ] ! ¥
< 5 i 2 ] 4 b i
. ) -l ey -'li
7} (-3,-3) B) (-5,-2) AT RN N SN N A B 4
L sl ot
g AN .
9) (-2,1) 10} (1,2) D, s |}
Y
Directions: Write the ordered pair for each point.
Y
T ) Qs simmd 12) S{—t ) )
A'"“ .Gp F
o T o'y ¢ [ 13) B bsan. s} {71 S
¥4 ) N T
I N S e T 15 6, 16) Z{—, )
LT T
.Jq . 2 |9 ¥
e e Al B B S 721 T 18} Al v as )
A | I S—
F Y N -3 N D
¥ 19 J b 0 Flosowryommd
Simplifying Fractions
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Directions: Simplify the following fractions.

4 212 _ 21 (10 __ & _

6 3|10 28 15 18

4 | 6 1 __ |6 _ 12

8 20 14 15 a0
Adding Fractions

Directions: Solve the following probléms. NO CALCULATOR! Put your answers in simplified form.

4 10 8 1 11 4 :
1.7"‘;1'—- 2.a+§m S.Z'l"'a—
12 10 _22_ 1

21 21 21 21

LT 95 T 10 6'11+5
10 11 1 3
73 TR T 5T

Division Word Problems
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Directions: Solve each of the following problems. NO CALCULATORS!! SHOW ALL WORK!

1.

Oliver played 2 rounds of a trivia game and
scored 982 points. If he gained the same
number of points each round, how many
points did he score per round?

2. Roger has 365 baseball cards in 5 binders. If
each binder has the same number of cards,
how many cards are in each binder?

%,

Chloe had 472 video games. If she placed the
games into 8 different stacks, how many
games would be in each stack?

4. Anice machine had 480 ice cubes in it. If
you were filling up 8 ice chests and each
chest got the same number of cubes, how
many ice cubes would each chest get?

Faye is making bead necklaces. She has 606
beads and is making 2 necklaces with each
necklace using the same number of beads.
How many beads will each necklace use?

6. There are 545 students in a school. If the

school has 5 grades and each grade had the
same number of students, how many
students were in each grade?

Multiplying Fractions
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Directions: Solve the followmg NO CALCULATORS ' Slmplycy your answer.

make th? whahw_ ' 5_ ’ muluply e g rmiltiply the - D wru;a ya&r LQ -
”?#E‘?ﬁég? 1 fﬁﬁnﬂé’fé‘i’féﬁ 2x5= ,’"“ iﬂtﬁ?ﬁ?ﬁéﬁﬂf 2x ‘ 3 result 3,
Order of Operation
1 ,
3X5 : i5 5=
_ 4. 5. 6.
6 X - ) 2 - 5
K ez 1 ¥ -
24 5 : £
“}'&*M 7. ' 1. 8. 9. 4
9
Bompleigx2e? - 3.3 "0, 2
e N e AR S =
’ L8 ce ansﬁer : 40 2
§;-,=Q:. ]
i’axﬁ_ﬁ 12 %xﬁ@m ixgmm.
778 6 "2 1071
5.4 1 156 _ 16 9.,1_
it e 24 el ] =]
75%71 i7%%6 g %1
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Directions: Simplify the following. Remember your PEMDAS rules!

8 #4519 +00- 1
Mt
A wiaeih -
Nt
AR 41 -
Mg
By |

41

1. 2x17+13x3—-1

2. 4—-1+16x11+8

3. 4=14+17x18+9

4. 184+ 14+2x18x%x16

5. 17x14+14~6x 10

6. 17x10+2-1x12

7. 15 =13+ 14X 9+ 19

8 9x5-14+8+15

9. 1Bx11x12+3~2

Finding Area of Triangles
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Directions: Find the area of the triangles below. All work must be shown. Please follow the example

problem for work we expect to see.

V4

A Ry

] AN
Efiiu | 19 s !}nm% AN
gume [N
- . F7 e
s L3 mtseh
A ==bh
2 .
A==(17)(10)
A= 85 in2
T ?' iﬁ“
&4 Jiil?fk{/m e “Tm K“\
T rm i / b

1m

82 &

H

L/
1/

12k
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Multiplying Decimals

Directions: Multiply the following,

L oX
FRE X100 =30

68 % 100 =

:j‘-:

Sy
55:4196 X 100 =

100 X 743

L4685 X 100 =
] .

448 X 100 =

91X100 *

328X100 =

i

5095 X 100

i

~ Directions: Multiply the following,

1

SNARR ' '
18 X 1,000 =

SRR
21 X 1,000 =

9./(.39; X 1,000 =

274 X 1,000 =

1,000 X 1081 =

274 X 1,000 =

Directians:. Complate,

12 = 042 x 10
100

= 0012 X

360 = 36 X _——
= 3.6 X
=036 X

438 = X 10
= X 100
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- Conversions

Directions: Convert each measurement.

Lloder of sapocity
8 fuld guneey } cup
1 cups 1 ping
L pints { quary
¢ eyocisa | gallon

Flow

T T T

Katya's thexmas holds § ploga.

| This conversion table shows how to
CONVERE MUCes, cUps pints, quarts,
ond galfons.

Farmah's theemos holds 6 cups,

How mary pints doos 1 hold?

ey oups doss it hold? o _
2e1a  AGape  G+f=3 Bpms
S e e R TN e = LT S A s 2

1. 32 fluid ounce G 6 quarts
cups pints pints gallons
5. 16 gallons 6. 5 quarts 7. 36 cups 8. 72 pints
pints cups quarts gallons
9. 1quart 10. 240 fluid ounces 11. 7 quarts 12. 11 gallons
fluid ounces pints cups pints
Units of length This conversion table shows how to
12 inchey Tior ] convert inches, feet, vords, and mikes,
Yfear 1 el :
5,180 feer 1 mile
1,760 yards ~ nile Weillka's rope is 3 yards long,
| Brian's rope I 60 inches long, How many tnches long Is i?
How many feet long is ] e xB3=9 . 9festions
50 5 12 5 ! 5 foet lohg - 108 Incheslong - |
13. 36 inches B | 15. 12 feet 16. 6 vards
feet yards inches feet
17. 4 yards 18. 5 yards 19. 15,840 feet 20. 3,520 yards
inches inches miles miles
Convert 25 centimebers o mil[imetm‘s. Convert 200¢ to dollas.
25%10= 2BOKIM
1. 40cm 2. 15cm 3. 30 mm 4. 100 mm
: mm mm cm cm
5. $35 6. $600 7. 450¢ 8. 150¢
¢ ¢ $ $
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Word Problems

Dirgetions: Solve each of the following problems. SHOW ALL WORK!

1. Ned bought 331 pieces of candy to give | 2, An industrial maching can make 545
to 35 of his friends, If he wants to give crayons a day. If each box of crayons
each friend the same amount, how has 20 crayons in it, how many full
many pieces would he have left aver? boxes does the machine make a day?

3. Abox of computer paper has 1004 "4, Robin had 771 penudes. She Wartted o
sheets left in it, If each printerina place the pennies into 37 stacks, with
computer lab needed 39 sheets how the samne amount in each stack, How
many printers would the hox fill up? many more penniss would she need so

all the stacks would be equal?

5. Abuilder needed to buy 96¢ nails for his latest 6. Sarah recelved 541 dollars for her
project, If the nails he needs come in boxes of birthday. Later she found soms toys
47, how many boxes will he need to buy? that cost 15 dollars each, Howmuch

\ money would she have left if she bought
ay many as she could?
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Adding Fractions

Directions: Solve the following. NO CALCULATORS!! Show all work and simplify your answer!

Reading a Line Graph

1~§-+3~5§~x

Hgm? 4§ =2
= 3

-\x 5 )

1 '7’ 2’2‘ *5

B oot T

49 135 184

a5 * 38 -

=SS a Rewrite as

| improper
! frachons

Fmd least
COImon

535

demmmamr :

3+ +4+ = -
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Directions: The graph below shows the number of fish caught in a day. Use the graph to answer the
questions. ‘

Fishing Trip Results

_ Fish Caught
N T Y O N T e

TAM.  SAM.  9AM 10AM IIAM  12PM

Time

1} What time were the most fish caught?

2) What time were the fewest fish caught?

3) From 11 A.M. to 12 P.M. did the number of fish caught increase or decrease?

4) How many fish were caught at 9 A.M.?

5} How many fish were caught at 10 AM.?

6) Were more fish caught at 10 AM. or 11 A M.?

7} Were fewer fish caught at 9 AM. or 10 A.M.?

8) What is the difference in the number of fish caught at 9 A.M. and the number caught at 12 P.M.?

9) What is the total number of fish caught?

10)Were there at least 5 caught at 8 A M.?

Squares & Cubes
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Directions: Evaluate the following. You may use a calculator.

(10)° (!_Q)g,, D )Ib) = 1peol az? = (1Y) = [

| A

& 1 & 2, , 3
@ = @ = @ =
4 2 5 a6
@° = oo e (12) =
7 ) 8. . 9

Directions: Determina the prime factorization of the following numbers,

Evumple ‘
1) |eo 2) Jeo | 3 Tios
% O Jdr
b 1 30
i 7 7 7
b | | .
| \ | gt \ \
i
# Prime Factors Prime Factors
Axdx 3% 5=60 X _X_X_X_=80 _x_x X_x_=108
“Order of Operation
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Directions: Simplify the following. Remember your PEMDAS rules!

Tx{8 x 10+4)- 7 1. (8+23-3)+(13-6)
S ;

Tyl 53;%@“ 7

Ty BH -7

St

38 v’j":f
0, (5 Hx(0+3) —4 3 (16+4)+ (11+15+5)
4 (14+29-3)+20-2 5. (15+18—3) + (15 % 2)
6. (8+4)+(10+14=7) 7. (12+22-2) + 162
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